6.4 Working with Taylor Series

Wednesday, November 23, 2022

$$\begin{array}{l} \underbrace{Objectives}{Principal Taylor polynomial of a given order for a function \\ 2. Finding Taylor series of a function \\ 3. Frequences converses to a function \\ 3. Frequence converses Taylor series expansions. \\ \hline Previously ... \\ \hline Taylor Series \\ \hline Previously \\ \hline Prev$$

Example: · Find the Taylor polynomials Po, P., Pz, and Pz for f(x) = ln(x) zt x=1. f(1) = 0f(x) = |u(x)|f'(x) = 1/xf'(1) = 1 $f''(x) = -\frac{1}{2}$ f"(1) = -1 f"(x) = 2/x3 f''(l) = ZGo, $P_{0}(x) = f(1) = 0$ $P_{1}(x) = f(1) + f'(1)(x-1) = x-1$ $P_{2}(x) = f(1) + f'(1)(x-1) + f''(1)(x-1)^{2} = (x-1) - \frac{1}{2}(x-1)^{2}$ $\frac{1}{2!}$ $P_{3}(x) = f(1) + f'(1)(x-1) + \frac{f''(1)}{2!}(x-1)^{2} + \frac{f'''(1)}{2!}(x-1)^{3}$ $= (\chi - 1) - \frac{1}{2} (\chi - 1)^{2} + \frac{1}{3} (\chi - 1)^{3}$: If you keep going, you can find a pattorn and get an new Taylor polynomial in signa notation $P_{u}(x) = \sum_{i=1}^{n} (-1)^{i+1} (x-1)^{i}$ Mini - Activity Part 1 1. Find the Tzylor polynomials Po, P., Pz and Pa for f(x)= + x=1. 2. Find the Madavin polynomials Po, PIIPz, Pa for the following functions and find the neth Madavin polynomial and write it using signa notation. $\begin{array}{l} \partial_{x} f(x) = e^{X} \\ b_{y} f(x) = \sin(x) \end{array}$ Taylor Series Expansions of common functions $f(x) = \bot = \overset{\infty}{\searrow} x^{n}, -1 < x < 1$

$$f(x) = \frac{1}{1-x} = \bigotimes_{h=0}^{\infty} x^{h} , -1 < x < 1$$

$$f(x) = e^{x} = \bigotimes_{h=0}^{\infty} \frac{x^{h}}{n!} , -\infty < x < \infty$$

$$f(x) = \sin(x) = \bigotimes_{h=0}^{\infty} (-1)^{h} \frac{x^{h+1}}{n} , -\infty < x < \infty$$

$$f(x) = \sin(x) = \bigotimes_{h=0}^{\infty} (-1)^{h} \frac{x^{h}}{n} , -\infty < x < \infty$$

$$f(x) = \cos(y) = \bigotimes_{h=0}^{\infty} (-1)^{h} \frac{x^{h}}{n} , -1 < x < 1$$

$$f(x) = h_{1}(Hx) = \bigotimes_{h=0}^{\infty} (-1)^{h} \frac{x^{2h+1}}{n} , -1 < x < 1$$

$$f(x) = h_{1}(Hx) = \bigotimes_{h=0}^{\infty} (-1)^{h} \frac{x^{2h+1}}{n} , -1 < x < 1$$

$$f(x) = t_{0}(1)^{x} = \sum_{h=0}^{\infty} (-1)^{h} \frac{x^{2h+1}}{n} , -1 < x < 1$$

$$f(x) = t_{0}(1)^{x} = \sum_{h=0}^{\infty} (-1)^{h} \frac{x^{2h+1}}{n} , -1 \leq x < 1$$

$$\frac{1}{2e^{h}(1)} = \cos(1)^{x}$$

$$Find the Modernin series of the function
$$f(x) = \cos(1)^{x}$$

$$= 1 - \frac{x}{2!} + \frac{x^{2}}{4!} - \frac{x^{3}}{4!} + \frac{x^{4}}{3!} + \cdots$$

$$\frac{1}{2} = \frac{1}{2} + \frac{x^{2}}{4!} - \frac{x^{3}}{5!} + \frac{x^{4}}{3!} + \cdots$$

$$\frac{1}{2} = \frac{1}{2} + \frac{x^{2}}{4!} - \frac{x^{3}}{5!} + \frac{x^{4}}{5!} + \cdots$$

$$\frac{1}{2} = \frac{1}{2} + \frac{x^{2}}{5!} - \frac{x^{3}}{5!} + \frac{x^{4}}{5!} + \cdots$$

$$\frac{1}{2} = \frac{1}{2} + \frac{x^{2}}{5!} - \frac{x^{3}}{5!} + \frac{x^{4}}{5!} + \cdots$$

$$\frac{1}{2} = \frac{1}{2} + \frac{x^{2}}{5!} - \frac{x^{3}}{5!} + \frac{x^{4}}{5!} + \frac{x^{2}}{5!} - \frac{x^{3}}{5!} + \frac{x^{4}}{5!} + \frac{x^{2}}{5!} - \frac{x^{3}}{5!} + \frac{x^{4}}{5!} + \frac{x^{2}}{5!} - \frac{x^{2}}{5!} + \frac{x^{2}$$$$